

Proof

$$(cF)' = c \cdot F' \quad \checkmark$$

hence differentiation is a linear transformation.

$$(4) A \in M_{m \times n}(F) \quad A = (a_{ij}) = \begin{pmatrix} a_{11} & \dots & a_{1n} \\ \vdots & & \vdots \\ a_{m1} & \dots & a_{mn} \end{pmatrix}$$

Defined $L_A: F^n \rightarrow F^m$

$$\text{by } x = \begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix} \mapsto \begin{pmatrix} a_{11}x_1 + a_{12}x_2 + \dots + a_{1n}x_n \\ \vdots \\ a_{m1}x_1 + \dots + a_{mn}x_n \end{pmatrix} = y.$$

$$y = \begin{pmatrix} y_1 \\ \vdots \\ y_m \end{pmatrix}, \quad y_j = \sum_{i=1}^n a_{ji} x_i \quad \leftarrow \begin{cases} \text{another way of writing } y \end{cases}$$

L.H.S.

$$\begin{aligned} L(cx+z)_j &= \sum_{i=1}^n a_{ji}(cx+z)_i \\ &= \sum_{i=1}^n a_{ji}(cx_i+z_i) \quad \square \end{aligned}$$

R.H.S.

$$[cL(x) + L(z)]_j = c \sum_{i=1}^n a_{ji}x_i + \sum_{i=1}^n a_{ji}z_i$$

L.H.S. = R.H.S. (Distributive law)